Specimen:
1)a) Examine the possible factors which may have led to a change on the value of the pound sterling against the Euro in recent years 
b) Evaluate the likely economic effects of a significant fall in the value of sterling against the Euro. 

2)a) Examine the effect of the Common Agricultural Policy on the world trade in agricultural goods. 
b) Evaluate the implications of a significant reduction in barriers to the trade and services for the global economy. 

3)a) In 2002 the unemployment rates in Spain, France and Italy were significantly higher than in the UK. Examine the factors which might explain why the UK's unemployment rate was lower in these countries. 
b) To what extent might the pursuit of full employment conflict with other macroeconomic objectives?
Exemplar:
1)a) 'The competitiveness of the Uk's  manufacturing sector has declined in recent years'. 
Discuss the factors which may have affected the international competitiveness of UK goods.
b) Evaluate the methods by which the UK's international competitiveness could be increased. 

2)'Trading blocs are becoming increasingly important to the world economy'
a) Discuss the benefits to a country belonging to a trading bloc.
b) To what extent might the policies of the WTO conflict to those of trading blocs?
June 02
1a) Examine the factors which have led to an increase in interdependence between countries in the world economy.
b) Assess the impact on the global economy of the continued use by trading blocs of measures which restrict free trade.

2a) Examine the impact of falling oil prices on the economies of the European Union.
b) Evaluate the potential costs and benefits to the UK economy of a decision to join the euro.

3a) Examine the factors which might explain how a surplus of £18bn was achieved on the UK public sector finances in 2000/01.
b) Evaluate the likely effects of decisions by multinational companies to relocate production to the UK on the UK’s public finances and on the rest of the economy.
June 03
1a) Britain had a deficit in its trade in goods balance of £34bn in 2002. Examine the likely causes of this deficit.
b) Evaluate measures which could be pursued by individual firms and by the government to improve the competitiveness of British goods.

2. Since the early 1990s the UK rate of inflation has been less than 5% in every year while unemployment has fallen from over 2.7million to less than 1 million in 2002.
a) To what extent do these data contradict the Phillips curve analysis?
b) Examine the factors which might explain why the UK has experienced low inflation and low unemployment in recent years.

3a) Examine the significance of the single currency for decisions by multinationals to invest in euro-zone countries.
b) The UK is the largest recipient of inward foreign investment within the EU. Evaluate the benefits of such foreign investment for the UK economy.
June 04
1a) Examine possible factors which might have led to changes in the value of the pound sterling against the euro in recent years.
b) Evaluate the likely economic effects of a significant fall in the value of sterling against the euro.

2a) Examine the impact of the European Union’s Common Agricultural Policy on the world trade in agricultural goods.
b) Evaluate the implications of a significant reduction in barriers to the trade in goods and services for the global economy.

3a) In 2002, the unemployment rates in Spain, France and Italy were significantly higher than in the UK. Examine the factors which might explain why the UK’s unemployment rate was lower than in these countries. 
b) To what extent might the pursuit of full employment conflict with other economic objectives?

June 05
1)a)Examine the significance of the factors which have contributed to increased globalisation in recent years. 
b)Evaluate the likely implications for the world economy of the predicted decline non-renewable energy resources 

2)a)Examine the factors which affect the international competitiveness of the UK's goods and services 
b)Evaluate the likely economic effects of a fall in the UK's competitiveness. 

3)The average tariff on industrial goods is 4% in the USA, 14% in Brazil and 30% in India:
a) Examine the reasons why a country may restrict imports. 
b)Evaluate the likely implications of an increase in protectionism on a country's economy. 
June 06
1a) ‘Trading blocs are the most significant factor contributing to globalisation.’ To what extent do you agree with this view?
b) Evaluate the likely economic effects of a decision by the UK to withdraw from the European Union.

2a) Both the USA and the UK’s balance of payments accounts are recording large deficits on their trade in goods balances. Do such deficits matter? Justify your answer.
b) Compare the effectiveness of supply side and fiscal policies to correct deficits on a country’s current account of the balance of payments.

3a) In 2000/01 the UK’s public expenditure was 37 per cent of GDP. This is forecast to increase to over 42 per cent of GDP by 2007/08. Examine the likely economic implications, apart from increased taxation, of this trend.
b) Assess the economic effects of a significant increase in taxation on the UK economy. 
June 07
1a) The number and size of trading blocs, such as the European Union, have increased in recent years. To what extent does this trend conflict with the aims of the World Trade Organisation? 
b) In several countries there has been increasing pressure for protectionist policies. Evaluate the likely economic effects of an increase in protectionism by the EU. 

2a) Between 1999 and 2001 the UK had a fiscal surplus but from 2002 there has been an increasing fiscal deficit. Examine the likely causes of this trend.
b) Evaluate the likely economic effects of an increasing fiscal deficit for the UK economy.

3a) In April 2006, the unemployment rate was 16.5% in Poland, 8.2% in Germany but only 5.2% in the UK. Examine the factors which might explain the differing unemployment rates in these EU countries. 
b) Discuss the view that the Phillips Curve is irrelevant in explaining relationships between unemployment and inflation in the UK.
June 08
1a)In March 2007, the UK’s inflation rate was 3.1% whereas it was 1.2% in France and 
1.7% in Italy. Assess the factors which might explain the differing inflation rates in 
these EU countries.
b)Evaluate the factors which could improve the international competitiveness of the 
UK’s goods and services.

2a) The value of world trade has been growing at a faster rate than world GDP. Assess 
the factors which might explain this trend. 
 b)Evaluate the disadvantages of further trade liberalisation to the UK or to a country of your choice.

3a)
The world prices of commodities have increased by over 100% between 2000 and 
2007 (with metal prices rising at a faster rate than agricultural product prices). Assess 
the possible causes of this rise in commodity prices.
b)Evaluate the likely economic effects of a sustained rise in commodity prices on the 
UK economy. 

June 09
1a)Examine the effect of a substantial fall in UK house prices on the UK economy. 
 b) Assess the effectiveness of further supply side policies in preventing a recession in the UK.

2a) The value of the pound fell from £1 = €1.47 in May 2007 to £1 = €1.18 in November 2008. Examine the factors which might explain this depreciation of sterling against the euro. 
b) Evaluate the likely effects on the UK economy of the decrease in price of oil from $147 per barrel in July 2008 to $56 per barrel in November 2008. 

3)The UK government forecasts that by 2028 a quarter of the adult population will be aged over 65. In addition, it is estimated that there was an annual average net migration into the UK of 189 000 between 2000 and 2006.
a)Discuss the impact of an ageing population on the UK’s public finances and international competitiveness. 
b) Evaluate the economic effects of an increase in net migration on the UK economy.
June 10
1a) Examine the causes of income and wealth inequality in the UK or any country of your choice. 
(b) In the 2009 budget the UK government announced that a new 50% rate of income tax would be introduced in 2010. This creates three marginal tax rates of 20%, 40% and 50%, instead of two. Evaluate the likely economic effects of this change in the tax structure.

2 a) To what extent is primary product dependency a constraint on economic growth and development in developing countries? 
b) Evaluate four ways in which economic growth and development might be promoted in developing countries.

3 a) The UK fell from 9th to 12th place in The Global Competitiveness Index between 2007 and 2008. Examine the factors which might have caused a decrease in the international competitiveness of the UK’s goods and services. 
b) Evaluate strategies which may be used by businesses and governments to improve the competitiveness of a country’s goods and services. 
June 11
1a) Many countries have experienced a substantial rise in their fiscal deficits since 2008. Assess the factors which might explain this trend in the public finances of a country of your choice. 
 (b) Evaluate the case for cutting public expenditure rather than raising taxes as a means of reducing fiscal deficits.

2a) Assess the causes of absolute poverty in a developing country of your choice. 
 b) To what extent is reducing the number of people living in absolute poverty sufficient to achieve economic development?


3a) Assess the economic effects of the growth of trading blocs on the global economy. 
b) The UK is a member of the European Union but has not adopted the euro as its currency. To what extent do the benefits of membership of a monetary union such as the Eurozone outweigh the costs? 
June 12
1a) Between January 2005 and January 2011, The economist’s commodity price index increased from 100 to 230. Evaluate the likely economic effects of such a rise in commodity prices on the global economy.
b) Assess macroeconomic policies which might be used to respond to rising commodity prices during a period of slow economic growth.

2a) Assess the significance of three factors which might limit economic development in developing countries.
b) Discuss debt cancellation and trade liberalization as alternative means of promoting economic development in developing countries.

3a) Assess the view that the main cause of globalization is the increase significance of transactional companies.
b) to what extent do the costs of globalization outweigh the benefits?
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